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(ELECTIVE COURSE : COMMERCE) 
ECO-12 : ELEMENTS OF AUDITING 

Time : 2 Hours     Maximum Marks : 50 

Note : Attempt any five questions. All questions 

carry equal marks. 

1. “Auditing begins where accountancy ends.” 
Discuss this statement. How does accountancy 
differ from auditing ? 5 + 5 

2. What do you mean by Internal Check ? Explain 
its merits and demerits. 2 + 4 + 4 

3. Define ‘Vouching’. How does it differ from 
Routine Checking ? Discuss the objectives of 
vouching.  2 + 4 + 4 

4. How would you value the following  ? 5 + 5 

(a) Intangible Assets 

(b) Goodwill 



 [ 2 ] ECO-12 

   

5. How would you verify the following ? 5 + 5 

(a) Copyright 

(b) Outstanding expenses 

6. Who can be appointed as auditor of a company ? 

Who can dismiss the company auditor and  
how ?    3 + 3 + 4 

7. How would you audit the following ? 5 + 5 

(a) Forfeited shares 

(b) Issue of Bonus shares 

8. Define auditor’s report. Discuss its types. 
Prepare imaginary qualified report. 3 + 3 + 4 
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Lukrd mikf/ dk;ZØe  

(ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2020 

(,sfPNd ikB~;Øe % okf.kT;) 

bZ-lh-vks--12 % vads{k.k ds ewy rRo 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % fdUgha ik ¡p iz'uksa ds mÙkj fyf[k,A lHkh iz'uksa ds 

vad leku gSaA 

1- ¶tgk¡ ys[kkdj.k lekIr gksrk gS ogha vads{k.k izkjEHk 

gksrk gSA¸ bl dFku dh foospuk dhft,A ys[kkdj.k 

vads{k.k ls fdl izdkj fHkUu gS \ 5 $ 5 

2- vkUrfjd fujh{k.k ls vkidk D;k vfHkizk; gS \ blds 

xq.k ,oa nks"kksa dks crkb,A 2 $ 4 $ 4 

3- izek.ku dks ifjHkkf"kr dhft,A ;g uSR;d tk¡p ls 

fdl izdkj fHkUu gS \ izek.ku ds mís'; crkb,A  

      2 $ 4 $ 4 
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4- fuEufyf[kr dk ewY;kadu vki fdl izdkj djsaxs\  
5 + 5 

(d)  vn`'; lEifÙk;k¡ 

([k)  [;kfr 

5- fuEufyf[kr dk lR;kiu vki dSls djsaxs \ 5 $ 5 

(d)  d`fr LokE; 

([k)  vnÙk O;; 

6- dEiuh vads{kd fdldks fu;qDr fd;k tk ldrk gS \ 

dEiuh vads{kd dks dkSu gVk ldrk gS vkSj dSls \ 

      3 $ 3 $ 4 

7- fuEufyf[kr dk vads{k.k vki dSls djsaxs\ 5 $ 5 

(d)  vigfjr va'k 

([k)  cksul va'kksa dk fuxZeu 

8- vads{k.k izfrosnu dks ifjHkkf"kr dhft,A blds izdkj 

crkb,A ,d dkYifud e;kZfnr izfrosnu rS;kj dhft,A 

      3 $ 3 $ 4 
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